74.1

1)

2)

3)

4)

5)

Work outE + 2
5 3

Work out the value of 40 — 3x whenx = 2

Evaluate 33 x 2%

Solve 2(2x+3) =7

Complete 0.32 kg .......... 48g

(using <, =or>)




74.2

1)  Round 3.0468 to 1 decimal place

2)  Find 30% of $410

3)  Find the missing terms in the sequence ?, 3, -1, ?, -9

4)  Estimate 497 x 41

5) Express 3 z as an improper fraction



74.3

1)  Work out > + 2
6 9

2)  Work out the value of 4x — 15 whenx = 3

3)  Evaluate 43 x 17

4) Solve 5(2x +4) = 58

5) Complete 0.78 m .......... 9.3cm

(using <, =or>)



74.4
1)  Round 31612 to 2 significant figures

2)  Find 5% of €540

3)  Find the missing terms in the sequence ?, 7,1, ?, -11

4)  Estimate, by rounding each number to one significant figure,

82 x 378

5)  Express 4% as an improper fraction



74.5

1)  Work out : + E
5 7

2)  Work out the value of 12 — 6x when x = 2

3) Evaluate 5% x 23

4)  Solve 3(2x —4) = 18

5) Complete 54.3g .......... 0.45 kg

(using <, =or>)
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74.6

1)  Round 24.5038 to 2 decimal places

2)  Find 95% of £220

3)  Find the missing terms in the sequence ?,-12, -7, ?, 3

4)  Estimate, by rounding each number to one significant figure,

625 + 189

5) Express 5 % as an improper fraction
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